8.2 Characteristics of Quadratic Functions

Find the vertex, maximum or minimum value, AOS. Then

state domain, and range.

&
-
']

2

4 =]
Fl

Vertex: [ 31 ‘5)

AOS: X=3

Max. n@ Value=_~9

Domain: "-‘-?{I X EE-S

Range: i‘jl 42 '*'51!

v
Vertex:_ (2 D)
A0S X=Z
Max. or value=__ O

pomain:_ 1%X1 X ERY
Range: ﬁ;““ j 7 0 1)




Find the x- and y-intercept.
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Find the vertex, axis of symmetry & y intercept of the

function’s graph. Thew stafe He domain ¢, (on9e.
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The graph nf‘b‘E’r} =-0.007x% + 0.84x + U.B}an be used to model the
height in feet of an arch support for a bridge, where x represents

the horizontal distance in feet from where the arch support enters
the water. Can a sailboat that is 24 feet tall pass under the bridge?

Explain. 0= -0.007; b = 0. 84
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The height of a small rise in a roller coaster track is modeled by
flx) =-0.07x% + 0.42x + 6.37, where x is the distance in feet from a
supported pole at ground level. Find the w of the rise.
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